HA3E I v I A TN AT = ARERER
FTE Ty 7R (BHk)

=8/
Hl A = VAT~ JRE— fee RIESE  FRRE - Wi Hu s
JINFR L 14 - /K #HOAE HLREY o 2 N
B 7= - ~ - ~ ~
N 6 4 6 0 4 6 4 6 2-2 3
o W = ~ ~ - - -
g om T 4 6 3 6 1 6 3 6 0-4 5
E Tl - 6 6 - 3 2 - 6 2 - 6 1-3 4
HoK ®i T
e 2 KR IE W
= W 6 - 4 6 - 1 6 - 2 6 - 5 4-0 1
% W o & ) ) ) ) )
FAETAPRS T 6 4 6 3 6 2 5 6 3-1 2
=B/
(2 TN PN T REAE R R EES [N - Wi gt
I  BEREA 7 PMARERE PEIRLET AR 7 3 YN
S ) . - ) )
0w 6 1 4 6 4 6 4 6 6 2 1-3 4
IS | N B B B B SBE 1 5l & 317
%{%i/?¥‘6 4 6 5 5 5 6 U | (i oo %) 2 0. 605
WO 1R R ~ ~ ~ j j
m@ﬁﬂm%6 4 5 6 2 6 6 0 2-2 3
[ER T = B B B B SWE 15l X517
Wt T 6 4 5 5 6 2 6 2| (HERD%) 1 0. 638
L N TS S
- ~l2 - 66 1 - 6 0 - 6 2 - 6 0-4 5
O — K

B7D/7@%M (Al & PEIR - PEIRLIZRERR O /=0l L, ZivE TORGS — A%
WL VB AR E L E LT,

BikiZ. FERROD 72 OB 72 o e T OB T IT WV EH A,

(723, BEOEIRIITE E EEBOXTNH Y 308, BEROBR EY Yy 712k b
@%%%&ELR%@@@K%%@@%D&@A)




AFTEE HIEEEE RS " " iy gt
o = POk Wb lgifiz R
T RS KPR BRRIRNT I r— IR
A F Oy
1 8 - 2 8 - 3 2-0 1
L
woE O &
2 - 2 - 8 8 - 3 1-1 2
A = B 1
BB 8 - &
3 77 3 - 8 3 - 8 0-2 3
b /o 1F A

CRROFRGTTIEZ, BHTII6O TS — L5 —7 R T =V e 72> TV E L7,
T b U =EBRD N8 = LR =T R T =V e LE L,

A - afE i - AL




WASE I v I RAX TNV AT = A KREFER

Bk (B 7= OB AH Sk EHATL, )

.
Citk
B7 v AT vy 1B % NS = <1 |
VoI - 7E IF HE e = K - &R O HEARE IS HoE A7 #



